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MATRICES

2 3
Lrd - |

-1 4

]a'ndB:{zL 2

1
] , then find A-B.

o Watch Video Solution

2 3 —1
, then find
5 6 1

(a)-A, (b)3A,(c) %A.

24— |

| o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XH4Kp7gX74DC
https://dl.doubtnut.com/l/_olD0wxGOzt7y

-5 6

B.letA= |1 7 and
9 11 8

] Find AB
2x3

o Watch Video Solution

-3 1 2 -1
4.let A = B = Then prove
0 2 0 1

o Watch Video Solution

5.let, A 2 41 p 8 —120
LA Ty g T g o 0

o Watch Video Solution



https://dl.doubtnut.com/l/_olD0wxGOzt7y
https://dl.doubtnut.com/l/_DxxSoJIGUrhi
https://dl.doubtnut.com/l/_08Oekg1KnM0F
https://dl.doubtnut.com/l/_UxKBmKjBS1ug

5 10 10 5 —10 35
6.Let A , and = . Prove that AB

10 20
=ACbut B # C

15 10

25 -5

° Watch Video Solution

7. Prove that Al=IA=A, for

alh s br=lo

° Watch Video Solution

Test Your Concepts Very Short Answer Type Questions

1. What is the order of matrix [6

71 2

ik

O Watch Video Solution



https://dl.doubtnut.com/l/_U9EzlAaj94As
https://dl.doubtnut.com/l/_joWmDdlkyVJF
https://dl.doubtnut.com/l/_TljeaP2STvrx

Test Your Concepts Very Short Answer Type Questions

1. For a matrix what is the second row and third

TN
CoO = =
S W N

column element ?

° Watch Video Solution

2. Trace of a scalar matrix of order 4 x 4 whose one of the principal

diagonal elements is 4 is

o Watch Video Solution

3. If order of matrix A is 4 x 3 and AB is 4 x 5, then the order of

matrix B is

o Watch Video Solution



https://dl.doubtnut.com/l/_8FiLNWKdKrTU
https://dl.doubtnut.com/l/_bocMS7ix8qyD
https://dl.doubtnut.com/l/_xrBO45lWUzNp

2 3 T 3
4, Two matrices A = and B = are
5 —1 5 -3 —y

equal, then x+y is

° Watch Video Solution

10 8
5.If A = 0 then find A+B.

2
and B =
—6 6] [5

o Watch Video Solution

12
6.1f A = [9 Z] and B = ! 8 0],thenﬁnd(A—B).

-2 =5

o Watch Video Solution

1 2 3
7.f A = ,then AT =
4 5 6

° Watch Video Solution



https://dl.doubtnut.com/l/_ZFXGnkyoqZCC
https://dl.doubtnut.com/l/_oGXmJnalBE0W
https://dl.doubtnut.com/l/_Ny5CrBlPAhth
https://dl.doubtnut.com/l/_x6ZMA0O2NLwq

1 2
8.f A = [3 ], then kA (where 'k' is a scalar) =

4

o Watch Video Solution

a p
9.f A= | b q|,then (AT)T=
c r

o Watch Video Solution

10. The order of matrix A + BT is 4 x 3, then the order of matrix B

° Watch Video Solution



https://dl.doubtnut.com/l/_x6ZMA0O2NLwq
https://dl.doubtnut.com/l/_SwPvcLWTVrGV
https://dl.doubtnut.com/l/_OHSIV2WGkQy6
https://dl.doubtnut.com/l/_XyU11S61W0Lr

3
MIfA = [

48 },then check whether it is symmetric matrix or

not.

° Watch Video Solution

A. symmetric

B. skew symmetric

C.diagonal

D. unit

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MF0yu2Ea8mkW
https://dl.doubtnut.com/l/_2IMXTho4JNHD

1
13. The product of [2] and [3 4]is

° Watch Video Solution

a b T .
14. The product of[ d] and [ ] is
c

° Watch Video Solution

1
15.The productof [2 —4 4], and | 3| is
)

o Watch Video Solution

16. If all the diagonal elements in a diagonal matrix is O, then it is a

matrix.

o Watch Video Solution



https://dl.doubtnut.com/l/_P6IUkmjFyBf0
https://dl.doubtnut.com/l/_FRZiNVu8r1EW
https://dl.doubtnut.com/l/_NH4FRvEV5kwx
https://dl.doubtnut.com/l/_zOSlwjOnG16E

2 -1 0
17.1F |9 2 4 |, find (k+l) A.
6 3 -9

o Watch Video Solution

9 _
18. If A = 3 , B = 95 and C = 2 0 then
4 1 —6 1 -3 1

find (A+B)+C.

O Watch Video Solution

1 2
19.1f A = and B = 56 ,then find 3A+7B.
3 4 7 8

o Watch Video Solution

20.i5] 2 L y 4119 e find
X x2—|—32—6z,ennx,y,z.


https://dl.doubtnut.com/l/_zOSlwjOnG16E
https://dl.doubtnut.com/l/_p1I0kdXie5Gf
https://dl.doubtnut.com/l/_vEx1ReQnPfZV
https://dl.doubtnut.com/l/_TMmAE2RtaBYs
https://dl.doubtnut.com/l/_el13aMd84yvA

° Watch Video Solution

aifAd— |2 3] and B= |2 2 then find the matrix x
o —5 7 an —4453,enn e matrix

such that A+X=B.

o Watch Video Solution

11 —-13
22.1f A = [ ) ],then find AT=?
[ 11 —13
A
| —13 11 ]
11 13]
B.
| —13 11
11 —13]
C.
13 11 |
[ —11 —13
D.
| —13 —11]
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_el13aMd84yvA
https://dl.doubtnut.com/l/_b8w1CUyvW4Vu
https://dl.doubtnut.com/l/_Lv9rZ3chUGMs

23.If A = [aij] difined as a;; = i> — j + 1, then find matrix A.

2x3’

o Watch Video Solution

24. If

5 3 1 22 31 43 51 33 2
A= ,B = and C =
2 9 —11 16 11 44 41 5 —-14

, then find 4C-2B-A.

o Watch Video Solution

25.Compute:

2 3 41 11 13 -3 4 6 12 4 -2
-5 11 6 7 5 -3 4 -7 -3 5 11 7

o Watch Video Solution



https://dl.doubtnut.com/l/_Lv9rZ3chUGMs
https://dl.doubtnut.com/l/_w2QBoBHB3gd3
https://dl.doubtnut.com/l/_U4RSEorGB7qx
https://dl.doubtnut.com/l/_Zx1fK3WhJ24y

26.Find a,p,q and b if

A:{a—3 6 bq][ 0 2p—q —4

1 5 9 T2 5 a+b

o Watch Video Solution

27.1f A, B and C are three matrices of order 3 x 4,3 X 2 and a X 2

respectively, then find the order of matrix AT BCT.

° Watch Video Solution

28. If X and Y are two matrices such that

6 —5

3 2

X+Y = 13
|5 2

]andX—Y:[ }, then find the

matrices X and Y.

° Watch Video Solution



https://dl.doubtnut.com/l/_9vQooi2xBEHR
https://dl.doubtnut.com/l/_mJOInmKmb3zW
https://dl.doubtnut.com/l/_h9YaCDdor6ak

Short Answer Type Questions

_5 3_.
1 2 3 5 6 2 1
1.IfA and B= | —3 5|, then find AB and
4 -1 2 -3 1
4 1
- 1 2—
BA.
° Watch Video Solution
5 3
2 3 4 -1 1 0
2.If A— BT and AT + B = , then
0 3 -1 5 2 5
3 -1

find the matrices A and B.

o Watch Video Solution



https://dl.doubtnut.com/l/_tih2Ps7C2d1u
https://dl.doubtnut.com/l/_gOZPNq5FX9yx

3 3 1 —
3. I1’A:[3 3] :aJndB:[_1 ] ],then find AB and BA.
What do you observe ?
° Watch Video Solution
2 3 5 6 4 -5 3 7
4, If A= and B = , then
-1 2 -3 4 8 -3 —1 2

find AT + BT and (A + B)". What do you notice ?

° Watch Video Solution

3
5If A = [ A 5],then find (A-1)(A-21).

o Watch Video Solution



https://dl.doubtnut.com/l/_lyT9JC3r3yjI
https://dl.doubtnut.com/l/_Uedpv4HccUrK
https://dl.doubtnut.com/l/_9KGx01CMwB8l

T N dc=12 7] then find
AT s 6P T |21 5| Y T g o p M

A(B+C) and AB+AC.

° Watch Video Solution

2 — —2
7.Given A = 3 , B = T and C = 3 , find
4 5 8 1

(AB)C and A(BC). What do you notice ?

o Watch Video Solution

1

1 —1 2 b

8.If 3 = , then find (a+b).
3 a 1 14

o Watch Video Solution



https://dl.doubtnut.com/l/_s2LqXaUNYT88
https://dl.doubtnut.com/l/_YukZKEBIaBB4
https://dl.doubtnut.com/l/_gI4BAYMvbR6Z

a b w x
9. If P:{ ]andQ:[ ], then show that
c d Yy z

(PQ)" = QT PT.

° Watch Video Solution

Essay Type Questions

0
-1

—1
1.IfP = ! X ] and f(z) = x? — 2z + 2, then find f(P).

o Watch Video Solution

—-10 11

24— |
-3

] = [—32 46],then find A.

° Watch Video Solution



https://dl.doubtnut.com/l/_n6lryoJP0FNI
https://dl.doubtnut.com/l/_8N0yTPwmxQR6
https://dl.doubtnut.com/l/_1WxGTR4cr9LJ

-5 3 14 —13
3.If A = 2 1|l and B=|1 3 |, then find the matrix X
1 5 14 -3

such that AX =B.

o Watch Video Solution

2005 2004

4P = [2004 2005

] , then find X such that PX=XP=P.

o Watch Video Solution

2 -1 ,
5.fx = 5 0 and g(z) = z* + = — 2, find g(x).

° Watch Video Solution

Concept Application Level 1



https://dl.doubtnut.com/l/_sv0VgmyyHVLb
https://dl.doubtnut.com/l/_r5UJ6bkr0xjE
https://dl.doubtnut.com/l/_rYcWbqbT6Yox

2 -1 2 1
1iF| 3¢ b —[ 9 -1, them —%—-
a+b

4 —6+4+= 4 2

Answer: D

o Watch Video Solution

ik Al 7 d B -2 2 then find matrix X
o 3 —8 an = —36 52 , en n matrix

such that A+X =B

A -7 17
"\ 36 —60

8 -7 17
"\ —36 60


https://dl.doubtnut.com/l/_41gX1OuzHkLm
https://dl.doubtnut.com/l/_3apXhIhUBrhS

-7 17
C.

36 60

-7 =17
D.

36 60

Answer: B

o Watch Video Solution

1
3.f A=(a—a b—1b) then (—b)A:

a
Afl, 11 1
‘\b ba a

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3apXhIhUBrhS
https://dl.doubtnut.com/l/_NFJOcEbo2U2B

a a+b )
4. If the matrix is symmetric, then
a+b+c a+b+c+d

which of the following holds ?

A. a=0
B. b=0
C.c=0

D.d=0

Answer: C

o Watch Video Solution

4 —2 -7 2
5fA= |3 —1| and B = 5 9|,then 2A+7B=
2 5 3 4
41 10
A. | 40 60

26 38


https://dl.doubtnut.com/l/_SYNDhkLgHISz
https://dl.doubtnut.com/l/_BIQDDeWc325H

[—41 107
B.| 41 61
| 26 38 |
14 5 ]
C. |30 —60
[ 24 26 |
[—41 107
D 41 61
| 25 38|
Answer: D

o Watch Video Solution

6.1f A 1 =3 4 B 2 400 d 5A-3B+2X=0
. = = - + =
2 1 -—2) 1 -1 3)° ’

then X=
. ~11 3 -5
"\ -7 -8 19
. 1/-11 3 -5
"2\ —7 —8 19
1/11 -3 5
C. —
2\ 7 8 —19

D. None of these


https://dl.doubtnut.com/l/_BIQDDeWc325H
https://dl.doubtnut.com/l/_ZsKYQKbPtoNP

Answer: B

o Watch Video Solution

a+b 0 0
7. If the matrix 0 b+ c 0 , (Where ab,c are positive
0 0 c+a

integers) is a scalar matrix, then the value of (a+b+c) can be

A.6

B.8

C.5

D.7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZsKYQKbPtoNP
https://dl.doubtnut.com/l/_nZTT9za6ShF5

girall t 3 aan=]’
e A T B
A. AB exists.
B. BA exists.

C. (A+B) exists.

D. (A-B) exists.

Answer: B

-7

],then

o Watch Video Solution

A. scalar matrix.

B. symmetric matrix.



https://dl.doubtnut.com/l/_elORU3vC8CEs
https://dl.doubtnut.com/l/_6Bw8bZlXcNsv

C. skew symmetric.

D. diagonal matrix.

Answer: C

o Watch Video Solution

2 4
10.1f A = {_3 7] and B = AT, then AT + BTis

NEE
11 14

B'48
T

[t -6
18 14

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6Bw8bZlXcNsv
https://dl.doubtnut.com/l/_d0kWjSZKHzmS

11.1f Aand B are commute then (A + B)? =

A A’ + B?

B. A% + 2AB + B?

C. A’ — B?

D. A2 — 2AB + B?

Answer: B

° Watch Video Solution

12fA=[2 —3 1] and B =

4
A |8
| 5
[ 8
B. | —4
| 0

4
2
-2

_then find 247 + B



https://dl.doubtnut.com/l/_ULy5RqvwG0k7
https://dl.doubtnut.com/l/_05hNGzTOy3fC

[ 8

C. |4
K

[ 8

D.| —8
| 0
Answer: B

° Watch Video Solution

1B.If | g| and B=[3 4 5],thenABis

D. None of these


https://dl.doubtnut.com/l/_05hNGzTOy3fC
https://dl.doubtnut.com/l/_luZo0J7ouBdv

Answer: C

o Watch Video Solution

14. If the orders of matrices
AT B and CT are 3x4,2x 3 and 1 x 2 respectively, then the
order of the matrix (ABT)C' is

A3 x2

B.2 x 3

C.4x2

D.4 x1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_luZo0J7ouBdv
https://dl.doubtnut.com/l/_sSWNJDhsDVZN

15. A is a 2Xx 2 matrix, such that A = [(aij)], where

a;; = 2i — j + 1.The matrix Ais

W H BB N W N N

Y U N SC R

Answer: A

° Watch Video Solution

6fA+B— |0 M aaa-B=|"% | thens-
. + =19 7 an — = 9 5| en B=
A'9 —10

|0 —6

B'910
|0 —6


https://dl.doubtnut.com/l/_HzStyGFILn5J
https://dl.doubtnut.com/l/_hOVD03Qm6JPG

Answer: C

° Watch Video Solution

2 1 3 1 .
17.1f A = B = and (AB)" = I then n
-5 -3 5 -2

is (a/an)

A. odd number.

B. even number

C.Vn € N.

D. None of these

Answer: C

| ° Watch Video Solution



https://dl.doubtnut.com/l/_hOVD03Qm6JPG
https://dl.doubtnut.com/l/_zO1oKQDy9hVA

4 3 N
18.1f A = 5 9 ,then A — 64 =

A. 231
B. 241
C.—231

D. 241

Answer: C

° Watch Video Solution

15
19.If A= and = 3—4 , then find the matrix X such
3 6 39

that AX=B.

~(7)


https://dl.doubtnut.com/l/_zO1oKQDy9hVA
https://dl.doubtnut.com/l/_Xi2wUd850ppM
https://dl.doubtnut.com/l/_vwAnpAkpuD4H

Answer: C

o Watch Video Solution

2 3 5 2 -2 q
20. If = , then 2p+r=
p 1 —4 6 16 r

A.q

B. 21

D.q-r

Answer: A

| o Wiabk .\t daa AL idktaa


https://dl.doubtnut.com/l/_vwAnpAkpuD4H
https://dl.doubtnut.com/l/_7yHrOh4zoh2v

L VvYvdlilll VIUCV JVIULIVII

A. AB=BC

B. AB=AC

C. BC=AC

D. None of these

Answer: B

o Watch Video Solution

3 2 -4
such that 3A-2B+X=0.

-5 — 4
22.A:{ 2 3 ]ande[

—4 5
3

—2
)

], then find X


https://dl.doubtnut.com/l/_7yHrOh4zoh2v
https://dl.doubtnut.com/l/_0CCdh8QAiQ38
https://dl.doubtnut.com/l/_suDmo0NLu0yB

[7 19 16
A.

3 4 22

[—7 —19 16
B.

i 4 22

7 19 -—16
C.

| -3 —4 22

7 19 16

D.

| -3 —4 22

Answer: C

o Watch Video Solution

7 6 1
23.If A+ B = and A — B =
s |
44
A.-0 4-
'3 81
B._O 8 |
4 a4
C._ 0 _4-
8 8
D.- 0 —8_

3 6

2
} , then find A.



https://dl.doubtnut.com/l/_suDmo0NLu0yB
https://dl.doubtnut.com/l/_89Jcas4PDyeQ

Answer: A

o Watch Video Solution

24.1f B — AT =
find Matrix A.
[ 1/2
Al 1/2
| —5/2
[ 1/2
B.| 1/2
| —5/2
[ —1/2
c.| 1/2
| 5/2
[ 1/2
D.| 1/2
| —5/2
Answer: C

{34—2

T _
5 _3 7}andB + A =

~3/2

3/2
3/2

3/2
—5/2

~3/2
3/2

3/2

o Watch Video Solution



https://dl.doubtnut.com/l/_89Jcas4PDyeQ
https://dl.doubtnut.com/l/_gk7Wllz68w0A

25. If

24 — 3B —2 4 s d 54 — 2B —40 -1 18
Pl 6 —15) " P Tl 12 15 —:1
, then B=

(55 -2 -1

‘{11 0 33

EEEEES

‘\-1 0 3

c( 2

‘\11 0 —33

(8 2

‘{1 o 3
Answer: B

o Watch Video Solution

-1 2
26.1f A = [ 5 4] and B = AT, then AT + BT =

NN


https://dl.doubtnut.com/l/_gk7Wllz68w0A
https://dl.doubtnut.com/l/_nlLRMP1IBmUq
https://dl.doubtnut.com/l/_jpr2HIvbD1Ev

[ —2 0
B
o
1 0
C.
o
[ —2 5
D
| 9 8]
Answer: D

° Watch Video Solution

0 0 z
27. Am:[

00 O] then find the maximum number of

possibilities of matrix Bz, in which x can be placed in
aii, a21, Or asi,positionsuch A;B; = Ozx1.

A1l

B.2

C.3

D. Cannot be determined


https://dl.doubtnut.com/l/_jpr2HIvbD1Ev
https://dl.doubtnut.com/l/_VP3vUY5ifp2C

Answer: C

o Watch Video Solution

3 6 2 6
28.1f A — 2B = and A — 3B = , then the matrix

7 6 7 5
Ais
A 5 6]
'_7 8 |
8 5 8]
'_7 6 |
c 6 5]
°_7 8 |
5 5 87
'_2 6 |
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VP3vUY5ifp2C
https://dl.doubtnut.com/l/_npsj85K3MuXM

29. Which of the following matrices satisfiles the equation

A’ + A=07?

AA= (1 0)

01

-1 0
B.A:( )

0o -1

-1 -1
c.A:( )

-1 -1

1 1
D.A:( )

1 1

Answer: B

° Watch Video Solution

30. If
3 2 7 1 0 3 100

A=|1 1 4|,B=|2 1 o0 |andcCl|0 1 0],
~1 -1 0 0 -1 -3 001

then find 2A+3B-7C.


https://dl.doubtnut.com/l/_iNzng50JJ0iJ
https://dl.doubtnut.com/l/_HmWP9vH0SSPr

[ 2 4 23
A 8 0 8
| -2 -5 16
[ 2 4 23 ]
B 8§ —2 8
| —2 -5 —16
[ 2 4 23 ]
C 8§ —2 -8
| -2 5 —16
[ 2 4 2-3
D 8§ —2 8
| -2 -5 16
Answer: D

o Watch Video Solution

rifd— |2 3 andB= | 2] find matrix C such that
. = 1 2 aln = 7 _1 , 1N matrix Suc a
C = AB + A’B.

A —-96 21
1036 7


https://dl.doubtnut.com/l/_HmWP9vH0SSPr
https://dl.doubtnut.com/l/_iQUv5R5iXTaX

Answer: D

° Watch Video Solution

A. AB=AC

B. AC=BC

C.BC=CB

D. A(B+C)=AB+AC

Answer: D


https://dl.doubtnut.com/l/_iQUv5R5iXTaX
https://dl.doubtnut.com/l/_RhtShHHKoNjU

o Watch Video Solution

3.fA = [ _0 ] and B = [_3 2],thenABz=
o
A.__1 0 _
a4
B.- 1 0 _
a4
C.- 0 1 |
-3 4
> 1 0]
Answer: B

o Watch Video Solution

1 2
4.1f X = [3 } and X? — 3X =

2

Al


https://dl.doubtnut.com/l/_RhtShHHKoNjU
https://dl.doubtnut.com/l/_zoi6SqYRxwXi
https://dl.doubtnut.com/l/_cBzuJClbVAag

B. 3l

Answer: C

o Watch Video Solution

],then A% —111=

B. 1
C. A?

D.O

Answer: D

| o Wiabkdl .\t daa AL .ktaa


https://dl.doubtnut.com/l/_cBzuJClbVAag
https://dl.doubtnut.com/l/_hOTtliYCEubq

L vYvdlilll VIUCV JVIULIVII )

a—3 -5 i
] is a skew =-symmetric matrix, then a+b-c

D.O

Answer: B

o Watch Video Solution

0
70f A = { g] which of the following is true ?
y

A.A3:[O y3]
v 0


https://dl.doubtnut.com/l/_hOTtliYCEubq
https://dl.doubtnut.com/l/_0T3HiyZ1quX4
https://dl.doubtnut.com/l/_x2l7TGsSgAwZ

4
s ¥y O
B.A_{O y4]

C.Both (a) and (b)

D. Neither (a) nor (b)

Answer: C

o Watch Video Solution

Answer: B

| o Wiabk .\t daa L. .ktaa


https://dl.doubtnut.com/l/_x2l7TGsSgAwZ
https://dl.doubtnut.com/l/_9DBFSIQaqxJ9

L ¥vYvdadlilll VIUCUV JVIULIVII )

2 —
oifa=|"7 B=1|7""°| andA=B.Find|? 7|,
—4 -5 r —5 r S

if the trace of A+B=-2.

Answer: B

o Watch Video Solution

1 -2](-1
10.1f [ 3 7][_2 . ][ 5 ] = [13], then the value of x is

A.O


https://dl.doubtnut.com/l/_9DBFSIQaqxJ9
https://dl.doubtnut.com/l/_UKErNfGPcc8E
https://dl.doubtnut.com/l/_jWRbyNh6Fbqc

C.1

D.2

Answer: C

° Watch Video Solution

MIFA = 0 2 h that A2
. =11 o , suc a

A4
B.3
C.2

D.1

Answer: A

= 4], then x is

| o Wiabk .\t daa L.kt am



https://dl.doubtnut.com/l/_jWRbyNh6Fbqc
https://dl.doubtnut.com/l/_E9g3hMkhHaab

L ¥vYvdadlilll VIUCUV JVIULIVII

-8 3
12.IfA=i , then A°-=
31 3 8

Al

0 0
B.

[0 0]

11T
C.

_1 1_

D. scalar multiple of A

Answer: D

o Watch Video Solution

16 4
13. Which of the following is square root of { 3 13] ?
A (2 4
13 -1

3 -1

[ 16 4]


https://dl.doubtnut.com/l/_E9g3hMkhHaab
https://dl.doubtnut.com/l/_7nkMEzR745AF
https://dl.doubtnut.com/l/_bl9pB0tVqcvP

T 9 4]
C.
| -3 —1)
(16 —4
D.
| 3 —11
Answer: A

o Watch Video Solution

14. If
5A2B112_5d2AB4_24
TAEE Ny L3 g | AT E= o5 )
then A=

NEEEE:

| -6 3 8

J[19 -2 3

1-6 3 8

c[92 3

|6 3 8

D. None of these

Answer: B


https://dl.doubtnut.com/l/_bl9pB0tVqcvP
https://dl.doubtnut.com/l/_lbqm8RoyThCr

o Watch Video Solution

1 6[|—2
15.1f[4 5] = [9], then the value of x is
z 3 3

A.9

B.-9

Answer: C

o Watch Video Solution

5
16.1f A =
2 4

s o]

] and B = AT, then AT — BTis



https://dl.doubtnut.com/l/_lbqm8RoyThCr
https://dl.doubtnut.com/l/_ivBAHQvRCmSn
https://dl.doubtnut.com/l/_l1cW7xnSmtYb

O

I LI |
S oo 0o
()

||

Answer: B

° Watch Video Solution

8
17.fA=|—-1| and B=[2 5 —6], thenfind 34 + BT.
-7
© 26
Al 2
| —27
= 26 1
B.| 4
__1_
- 187
C.| 2
__9_
2
D.| 26
| —27



https://dl.doubtnut.com/l/_l1cW7xnSmtYb
https://dl.doubtnut.com/l/_RgqSUetd3OKC

Answer: A

o Watch Video Solution

18.If A = [’(7) 2], then find A"(n € N)
(70
Ay o)
(70
o ]
(7™
o 7
[0 7
o]

Answer: B

o Watch Video Solution

0
19.1f A = [p ] then A"11is
0 p


https://dl.doubtnut.com/l/_RgqSUetd3OKC
https://dl.doubtnut.com/l/_s98cmLWpPZjL
https://dl.doubtnut.com/l/_QwSdWaBX0Dh1

‘np O
| 0 np

D. None of these

Answer: B

o Watch Video Solution

T
], then u is

5 6
20.1f A = [ 5 .

7 8
A. symmetric
B. skew symmetric
C.diagonal

D. unit matrix


https://dl.doubtnut.com/l/_QwSdWaBX0Dh1
https://dl.doubtnut.com/l/_ZZDhC10TVTTS

Answer: A

o Watch Video Solution

1. If

-1 1 -1
A:{p ],B:[ }and(A+B)2:Az+2AB+B2

C.3

D.1

Answer: B

| ° wWAr__ L vl e~



https://dl.doubtnut.com/l/_ZZDhC10TVTTS
https://dl.doubtnut.com/l/_ShrUEmMW2j1Z

L vvdllll vIUCO o0IULIVII

2 -1 1 -2 -2 1
2. If P= ,Q: and R =
-1 3 3 0

then find PQ+PR.

1 2
A

_2 1_

117
B.

_2 2_

‘10
C.

[0 1]

[ -1 —1
D

| -2 =2

Answer: D

° Watch Video Solution

—2 2
3.If a3 3 = 3020 , then find 2a+b-c.
4 5 b 8 52 a

A.16


https://dl.doubtnut.com/l/_ShrUEmMW2j1Z
https://dl.doubtnut.com/l/_O1AlrYa7vv3Z
https://dl.doubtnut.com/l/_WR7i0vAbUDn7

C.12

Answer: D

° Watch Video Solution

4FP=[2 2 1,Q=1]1

then PR+QS=

A.[19]
B. [10]
C. [15]

D. [12]


https://dl.doubtnut.com/l/_WR7i0vAbUDn7
https://dl.doubtnut.com/l/_ZMzftKAcsW80

Answer: A

o Watch Video Solution

4 —2
5.0fy = (3 0 ) and f(y) = y* — y — 6, find f(y).

Ay 1)
Sa)
)

Ne)

@
© o

o

@)
N N N

© O © O

Answer: C

° Watch Video Solution

5 —3
5 —3

6. If the matrix A = ! ] , then A"*!l=


https://dl.doubtnut.com/l/_ZMzftKAcsW80
https://dl.doubtnut.com/l/_JLNeeFpaUbHK
https://dl.doubtnut.com/l/_VqkqZMf0Dojp

B.

5 —3
c.2"
s

D.2n+1 5 —3
5 —3

T 1 T 1
ot ot Ot Ot

Answer: C

o Watch Video Solution

x Z

7.0f A(z) = { ] then A(x) A(y)=

PR
A. A(x+y)A(x-y)

B. A(x+y)+A(x-y)

C. Alx+y)-A(x-y)

D. A(x+y)


https://dl.doubtnut.com/l/_VqkqZMf0Dojp
https://dl.doubtnut.com/l/_NN5YZ7JVLAMs

Answer: B

o Watch Video Solution

6 -7 1

a0 T

|

that 2A-B+X=0.

A (7 6 O ]
|1 3 =5

(10 1 2]
5. | 3 2 1)

[ 7 7 0]
c 110 3 5
5 [ -7 15 0 ]
|- 7 -7

Answer: D

5
-4 3

2
-5

] then find X such

o Watch Video Solution



https://dl.doubtnut.com/l/_NN5YZ7JVLAMs
https://dl.doubtnut.com/l/_wBf3cPhhYVME

o2 411 2] _J10 ],
Tl 1] 3 1| =2 | NPE

A 4(r-1)
B. 5r
C.4r+2

D.r

Answer: A

o Watch Video Solution

C.O



https://dl.doubtnut.com/l/_DImzyaemPrAI
https://dl.doubtnut.com/l/_H5CGZjWsZ9v6

D. None of these

Answer: B

o Watch Video Solution

8 —9
NifA+ B = [

3 5
A'7—2
12 6

B'7 -2
1-2 6

s

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_H5CGZjWsZ9v6
https://dl.doubtnut.com/l/_AZqqgSFQVi4f

79 13
12. If A = 3 8 and B = 18 then find the matrix X such

that AX=B.
A [ —2
| —3
8 [ 2
| 3
- o
C.
D.
L. _3_
Answer: C

o Watch Video Solution

a b 1 1 9
13. If A = B = AL B)Y? = A2 B2
3 [2 1], [4 _1] and (4 + B) LB

then (b,a) =

A (1,1)


https://dl.doubtnut.com/l/_mslX5yWIDN9R
https://dl.doubtnut.com/l/_XvWHtWhrYJPL

B. (-1,1)

C.(1,0)

D. (-1,0)

Answer: B

o Watch Video Solution

6 =z 9
14.1f A = - and A° = I,then x=

—6

A5

C.-5

D.1

Answer: C

| o Wiak .\t daa AL iktaa


https://dl.doubtnut.com/l/_XvWHtWhrYJPL
https://dl.doubtnut.com/l/_gqbvMJ1mX7uv

L vYvdlilll VIUCV JVIULIVII )

15. If
18 1 -9 26 1 3
A—-B= and A + 3B = ,
11 12 2 —-13 —-16 10
then find A.
20 1 6
A.
| 5 5 4]
(20 1 6
B.
| —5 —5 4]
[20 1 —6
C.
' 5 5 4
b 20 1 —6
'_—5 -5 —4
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gqbvMJ1mX7uv
https://dl.doubtnut.com/l/_MmHU9eHjDktA
https://dl.doubtnut.com/l/_yMOCuICb7Bpz

[ —42 22
A.

| 40 10

[ —42 —22
B.

| —40 —10

[ —42 22
C.

| —40 10

(42 22
D.

40 10 ]

Answer: B

o Watch Video Solution

17.1f A = [0 ;’] and f(z) = z® — 4z + 3, then find f(A).

117

A 0 0
00

B. 1 1]
0 17

C. 2 3]
0 01

D. 1 2]



https://dl.doubtnut.com/l/_yMOCuICb7Bpz
https://dl.doubtnut.com/l/_6pCk1bp958p5

Answer: A

° Watch Video Solution

1 -37[3
18. If[5 6][_1 . ][4] = [ — 15|, then the value of x is

A4
B.2
C.3

D.1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6pCk1bp958p5
https://dl.doubtnut.com/l/_A9EDmYkzX32O

1 —4 6 )
19.I1’A:[3 2]a,ndB:[3 2],thenﬁndthematrlxc

such that C = AB + B2,

[ 37 25
16 9

27 —17
48 2

R
17 16

[ 3 —15]
D.

6 18

Answer: B

o Watch Video Solution

-2 21

20.1f A — BT =
3 6 5

matrix A =

A3—5—5
16 2 3


https://dl.doubtnut.com/l/_wr9WM99MyLIT
https://dl.doubtnut.com/l/_hZAsCv3g6pez

2 6 5
B.

13 5 7|

(9 5 7]
C.

13 2 1)

[—-3 5 5
D.

4 2 3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hZAsCv3g6pez

